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(%) SARIALARE : 3Tet AR — 7] SATOr ST

3Terct |ROft - eTey 3T areTey,
RIS ST - e, &R, g
R LR - ERIgdTE~, BledhHI1eRs, $U, I, @

q) 3frert RO — 7] 3o Jreme

Jmae ARt
T 3ATFOT 37T
STURTAT
grqur, fagreaan
PrIeIh
q) 3rrae |Roft
fade et ARviT ... gl HiNTT TS
q) TR HhHT R) ufgel Ufderss 3) ufger AT 8) g UFeTss
Feisa member of ...... series of Periodic Table.
1) 2™ transition 2) 1** actinide 3) 1%“transition 4) 2™ actinide
Q) YT 3ATfOr 3TeTe].
S RieegR @ MU Wiefier UIqeaT HEmngd aar gidl.
q) T, SR, defler - Q) dW, b, SR 3) i, SR ¥) di, wefier
German Silveris alloy of......
1) Cu, Zn, Sn 2)Cu, Ni, Zn 3)Cu, Zn 4) Cu, Sn

TR URIGR IR ITUTeH SRR Wieflel I IeHRd dTuRcT:

9) wifedgos WeEed Q) dig 3) PR IS ) fchet
Manufacturing of Ammonia by Haber process uses the following suitable catalyst economically:
1) Platinized asbestos 2) Iron 3) Copper oxide 4) Nickel

.......... = e WReed fder Afshy e oligr Ffifdt ot @

q) R ?) 3RifD 3) dis 3) AifeeH
.......... poisoning decrease haeme synthesis by inactivating ferrochelatase enzme.
1) Lead 2) Arsenic 3) Copper 3) Sodium

Folds SIS P IRA IRt T1d ?

9) Agl ?) NaOH 3) NaCl ¥) NH,OH
Which is the chemical used for cloud seeding ?
1)Agl 2) NaOH 3) NaCl 4) NH,OH
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NH, 311 BF, =1 SeRidect @lefielich! DI Jaid 3Fdh g ?

) NH, - fiRfireet anfor BE, - foxfirser ?) NH, - 37for BF, - @R

3) NH, - @R 37for BF, - fiRftrect 8) NH, - 37for BF, - @R

Which of the following is correct for the shapes of NH, and BF, ?

1) NH, - Pyramidal and BF,- Pyramidal 2) NH, - Planar and BF, - Planar

3) NH, - Planar and BF, - Pyramidal 4) NH, - Pyramidal and BF, - Planar

ST TR WTeteTdeh! DIUAT I ST hRUTMIC! hell ST 2ehdl ?

a) qroft b) fasr c) oradt d) o=

gt SR :

9) %eh a ) a amfr d wh 3) a, c 37T d Heh %) a, b T ¢ Hh
Iodine may be used for emergency disinfection of which of the following ?

a) Water b) Faeces ¢) Urine d) Skin

Answer Options :

1) aonly 2)aand d only 3)a,candd only 4)a, b and c only

TIRRY G Eiefiea! PIor U™ Jer 31med ?

a) gl ISl Bk AR

b) HfRRm 3T YISRE AERT TRITIIINIS & IMad 3N

¢) UeRITSt SRS HAfRM snasRyendT 380 il /feaxy aRIuam= 3ieT e

d) AFE Hie SRRIT AR Yo I HARRM rid
Tt SR
9) a %h ) a 3Mfr b ®h 3) a, b 31T ¢ Fh ¥) a, b, ¢ 3mfr d

Which of the following statements regarding magnesium is/are true ?

a) It is constituent of bones.

b) It is essential for normal metabolism of calcium and potassium

c¢) Daily requirement of magnesium is estimated to be 340 mg/day for adult.

d) Human adult body contains about 50 gms of magnesium

Answer Options :

1) a only 2)aand b only 3) a,band c only 4)a,b,candd

IR WFghIcHITN A T A .......... STetell SR

q) IR ?) P 3) UCRRM SMIsE 8) UifeReIRT
The sample cell in an IR spectrophotmeter is made up of ..........
1) Glass 2) Quartz 3) Potassium bromide 4) polystyrene

QU= qTUaTd FARTSST YHTUT SR SRAeI™ JTRIITER BRI URUIH gidid ?

9) PHHAT 3TOIR R) TSR 3) FARIRN g) T T
What are the health effects of excess fluoride content in drinking water ?
1) Lung diseases 2) Heart disease 3) Fluorosis 4) Skin diseases
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TRISTAT DTal TR TSt AT PR dlEiHe STHT Tl Ufshdell 3RY FUIdrd.
9) UieSNARISIIH Q) PEMIH 3) Pfrfherer ) fehfcrfherer

Process of precipitation and accumulation of calcium carbonate in some part of the profile is
termed as
1) Podzolization 2) Carbonation 3) Calcification 4) Decalcification

...... T I-TRIT UG T I gl

q) fyrse gRT 2) mercuric oxide 3) Y@M URT ¥) ORT ARIATSS
The high-level exposure to ...... causes Minamata disease.

1) methyl mercury 2) mercuric oxide 3) metallic mercury  4) mercury cyanide
I YU ¢l HIeh 3MTeaeaul A g

9) fegAfiad Q) TR 3) de ¥) TR 3Tth uRY
Tool marks are NOT easy to identify in the case of:

1) aluminium 2) rubber 3) copper 4) plaster of paris

Wlefleideh! i WA HRISR DU ?

9) P Q) AR 3) IR Q) X
Which of the following is a natural mineral fiber ?

1) Glass 2) Nylon 3) Asbestos 4) Rayon
e S T ...

9) P SGAIRIT FRIERT T

Q) YT SMTERUTYRIT TSTOATART HRE0T T

3) T 9T ORI hderd FREMT &l

¥) SHRICT TRl IRIRIIRET HRE0T AR
The purpose of bedding is to..............

1) protect cable from moisture

2) protect metallic sheath from corrosion

3) protect cable from mechanical injury

4) protect armouring from atmospheric conditions

g el Treniined, @iefletddl B T 8 g TR gRigaIes aouTdie] HRIfUCeH #Rua™
g .

q) IR R) YRR URTS

3) EAGTAIRG IR UTdes BN 8) wmfom URis

In the limit test for iron, the following compound helps to prevent the precipitation iron as ferrous
hydroxide.

1) Ammonia 2) Thioglycollic acid

3) Dilute Hydrochloric acid 4) Citric acid
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q) oy Q) AIE 3) S8 Urg ) 3MifTeH
Gutzeit test is used in the limit test for ..........
1)Lead 2) Iron 3) Heavy metals 4) Arsenic

"I GodbripRul T UfhaTed ... BT T JERIERISR Ul fIfe JromMRT daadrd.

9) grefiRM ) PfRr™ 3) BRTRT Q) AR

In the process of ‘vulcanization of rubber’, 1s heated with crude rubber at particular
temperature.

1) Potassium 2) Calcium 3) Phosphorus 4) Sulphur

SIS HIUaT foRaTRa TR et wifer Tl qurvamardt araRetr Sar ?
9) SABHA BRI ) SHBHA AR 3) S aRaEesT 8) fothamrsT

Expanded form of dithizone, which is used in the limit test for lead is :
1) Diphenyl carbazone 2) Diphenyl thioazone
3) Diphenyl thiocarbazone 4) Diphelamine

q) GreHRIeH ARG MSEsS R) WIEhIETRED URTS
3) dqH fUepRe URTs ) ORIy S Jese
Dragendorff reagentis a solution of ...........
1) Potgassium mercuric iodide 2) Phosphotungstic acid
3) Saturated Picric acid 4) Potassium Bismuth iodide
3) JURTAT, FHRAISD
R AueT Bied 9eR n = ¥ of Faftd vpur eiifdeewe e fodt o ?
) R R) ¢ 3) R 8) 9%
What is the total number of orbitals associated with principal quantum numbern=4 ?
)2 2)4 3)9 4) 16

S gelagTd! TSI IV Bceh SRadId ?

9) e AR IRIAT ATDR.

R) Paes AR IRl IR 2.

3) Uh SRR dlecied] Joidgd! HReT.

®) TAfpRIOTT eRaTem 3TTepR TN IMAI(ep J2T, dTeR USeled] Seidgidl AT AU FHEAIGR Jral
IMYATT Ferarga! SiveT.

What factors determine the intensity of secondary electrons?

1) Only the shape of the irradiated object.

2) Only the chemical composition of the irradiated object.

3) Only the number of electrons ejected.

4) The size and chemical composition of the irradiated object, the number of electrons ejected
and the numberof electrons reabsorbed by the surrounding.
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g G a/an T RIS 3R,

9) M Q) ST 3) B ¥) aRIcTdeh! Praral Arel
The mass of a neutron is equal to that of a/an ......
1) proton 2) electron 3) meson 4) None of the above

Rt foham omoft Ieoeiiean ae a1 (UiRd PRUIRITS! WTetiefieh! DIvT e AHReT T TR
EZSISISING

9) B - R ) B - 93 3) @ - 98 8) ERIeTUDT ATe!
Which of the following carbon isotopes is used to determine the age of the objects of plant or
animal origin ?

1)C-12 2)C-13 3)C-14 4) None of the above

¥) graur, fagrean
0.90 M Si3g HCI GEaumar pH FHGUIIe! Wietielih! PIorar T Feel aroRmET ?
1) pH=1log,, (1.0x10") 2)pH =log , (1.0 x 10"
3) pH=-log,, (1.0x 10" 4) pH=-log , (1.0 x 10")

Which of the following mathematical relationships should be used to calculate the pH of a 0.10M
aqueous HCl solution ?

1) pH = log,(1.0x 10" 2) pH =log (1.0 x 10™)
3) pH = - log, (1.0 x 10) 4) pH = -log (0.10 x 10")

1.5M H,SO, =1 10 dm® gevmdrgd 1.0N, H,SO, d Gavr & §dTet ?

q) feetedr graud 5 dm? grft e ?) fetedn grva 2% 9 H,SO, e

3) feeier gravme 20 dm? groft Gregd %) feeiear graund qus 7 H,SO, TTe

How is 1.0N H, SO, solution is prepared from 10 dm® of 1.3M H_S0, solution ?

1) By adding 5 dm® of water to it 2) By adding 294 g of H SO, toir

3) By adding 20 dm? of water to it 4) By adding 174 g of H,SO, to it

SR 9.0 HIeT 37eel I JATDPRAM HIFeb ATUH AT GETel 2.8 Lit 3Rl TR Fdhy ary R R
......... 3R,

9) 0.0821 atm Lit mol! K Q) 8.314 x 107 Joules K-! mol!

3) 82.1 atm Lit mol"' K- 8) 8.314 erg K" mol!

If one mole of an ideal gas occupies 22.4 Lit at Standard Temperature and Pressure, then the
value of the universal gas constant R is ............

1) 0.0821 atm Lit mol'K"! 2) 8.314 x 107 Joules K! mol’!

3) 82.1 atm Lit mol! K*! 4) 8.314 erg K mol”!
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9¢o I 3Rifes 3 (CH,COOH) afor aco 1 aroft (H,0) TebHepid fHRIcwet. TR Sileted! Sraulld
Ifeh AT Aol e ... ESEARCN NS

[H=1,C=12,0=16]

9) 0.33 Q) 9.0 3) 0y ) IRIGTUD! DIVTTE! ATal.
180 g of acetic acid (CH,COOH) is mixed with 180 g of water (H,0). The mole fraction onef
acetic acid in the resultant solution is

[H=1,C=12,0=16]

1) 0.23 2)1.0 3)0.5 4) None of the above

EDTA erIRIa1 9gear fig Agdr EDTA ...... $feder amdse iy S,

q) HCAPIfD R) ST 3) IRFe—a9 8. Fgarur
The end point for an EDTA titration is usually found by using a/an ...... indicator.
1) metallochromic 2) redox 3) acid-base 4) precipitates

AT aTe e sardiel arpd! fagreaa:

q) ared Q) &t B

3) oI i et %) TRM gIed. AN SR & B
With the increase in temperature, the solubility of gases in a liquid:

1) increases 2) decreases

3) is not affecte 4) first increases and then decreases

Tefierdehl PIurd 'cP’ TR Iry J1efte AR IR erehd ATgl ?

q) <t Gefawe arg eft o ) f MR 3R

3) ot s o g) ot yetg gL et 3TR.

Which of the following CANNOT be a characteristic of a ‘cP’ type of air mass?

1) It is a continental air mass. 2) It 1s moist.

3) It is cold. 4) It1is a polar air mass.

GTefeTudhT PV TTIHA FaaT 378 ?

9) AR R) Ararferct 3) AHferet ) IituaTRear
Which of the following is independent of temperature?

1) Molarity 2) Molality 3) Normality 4) Formality

9) Mo Q) PG 3) U ¥) SN
Fluorescence test is used as test for identification of ..........
1) Tablets 2) Capsules 3) Powders 4) Emulsions

TETEN S fohdT arer T fohar AT aRUAATG! TUMAGR STeRGEI GhelodTeal Ghiciiell Fgurdia:

) g Q) afenT 3) wAfRm RECINE
The act of forcefully pushing a liquid or gas through a system to clean or clear it is called:
1) elution 2) washing 3) flushing 4) partitioning

TE § 9 7T & TAURISNITS! SUYwh UAHIE : A fase / €]



99)

1)

I?)

12)

3)

13)

)

1)

Q)

2)

3)

For Private Circulation Only

q) S fagTad arRe S Q) §M T fIgad  amRel ST,
3) Ueh U fdgTad TR S ) freraeprd 0T aTRel S b ATel
Inisocratic elution technique.......

1) The same slovent is used 2) The same solvent composition is used
3) Only one solvent is used 4) Mixture of solvent cannot be used
SIS, AR aiiRel SR TRICE ... 3.

q) AT URIRIehT Q) AIfsTd FEe

3) [IfeTm Athe ¥) AfSTT ARICE

In the diazotization, the most commonly used titrant is ...........

1) Sodium thiosulphate 2) Sodium carbonate

3) Sodium sulphate 4) Sodium nitrite

ATCIUHICII derdral favar I g STuaATS! Wrefiertidh! PV IUTR A 38 ?
9) fR=at (3Meft) derll 2.0% HfeTT HEHeHR 0 fAfFe R Iar.

Q) =t (afielt) et :.0% AfeTH FEiHeAE 0 A Reid .

3) fERdY (3iieft) el R.0% WERRM TR q0 MY RSt T

g) fa=dt (3feft) derdt R.0% WM PEiteaR 0 fAfie g .

For retention of green colour of cardamom during storage, which of the following treatment is
found best ?

1) Soaking green (wet) cardamom in 2.0% sodium carbonate for 10 minutes

2) Soaking green (wet) cardamom in 2.0% sodium carbonate for 20 minutes

3) Soaking green (wet) cardamom in 2.0% potassium carbonate for 10 minutes

4) Soaking green (wet) cardamom in 2.0% potassium carbonate for 20 minutes

Y) FPITCRITSY
M PHCHTHIE, fRR 3Ewel ... 3T,
q) geia ?) AMUR 3) HeIH YA ) PAPI 2D
In normal phase chromatography, the stationary phase s ...........
1) Polar 2) Nonpolar 3) Moderately polar 4) Weak adsorbent
GLC AT YoaRurd acd .......... 3.
9) gn§or Q) forar= 3) IR TITTST ¥) SieT gRHIYH &
The principle of sepearation in GLC is ..........
1) Adsorption 2) Partition 3) Ion exchange 4) Gel permeationb
SRS fide 3T
9) Amax = HH IS fps R (et forde)  ?) Amax I I 3911 Sofhs e (& fame)
3) ot R amfor < Rre qiwgt %) Amax &I PIUdel farre ATgt

TE § 9 7T & TAURISRITS! SUgwh TAHUE : AT fasi / vo



3)

8)

4)

4)

5)

&)

6)

8)

For Private Circulation Only

Bathochromic shift is :

1) Shift of Amax to less energy side (red shift)

2) Shift of Amax to higher energy side (blue shift)
3) Both red shift and blue shift

4) No shift in Amax

STRf Tefiet RS FRRR 37avelT JXad: BIUIT UhRY Hed e PRUINTS! aTuRel! ST 2

) PIRHITS ITTAT Q) ufresnm s

3) Yifafae R Q) TR SR

The chiral stationary phase in GC is mainly used for the separation of which kind of components?
1) Conformational isomers 2) Enantiomers

3) Geometric isomers 4) Structural isomers

WUl DIV [HETHYU Tged UPR e ?

9) BRI M fefeeaisd ugeh

?) TR Ygdt

3) geragEfand snfor epfaRfeEn gl

) vt Uk fobar geget omfor smeRAuTfemfed ugelt
Which of the following are types of gravimetric methods?
1) Colorimetry and Distillation methods

2) Diffusion methods

3) Electrogravimetry and Thermogravimetric methods

4) Filteration and Isogravemetric methods

Ay HTeuITS Wietioiteh! P e Tgd et ?
q) TSR R) IRPUY Srsecten TR S

3) gutzeit Ggd ¥) ¥ fefeaiem

Which of the following is NOT the classical method for extraction of poisons?

1) electrodialysis 2) inductively coupled mass spectrometry
3) gutzeit method 4) steam distillation

T forfere pIemh! IR SMemRd aie:
9) fRET BRI Q) ST BRI 3) foenedar drIqr ) AT PRI

Gas-liquid chromatography is based on:

1) Beer’s law 2) Lebuc’s law 3) Piobert’s law 4) Henry’s law
Regd-thoT prCHThAE fRRR T 31Tg:;

q) A-deR ?) ydm

3) -t Snfor egdfter <t ¥) A-yfer e gt 1)

The stationary phase in reverse-phased chromatography is :

1) non-polar 2) polar

3) both non-polar and polar 4) neither non-polar nor polar
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R) T FGEpIUT ATl e 3ATe:

9) IR ) NMR 3) FTIR 8) UV-Vis spectroscopy
9) Raman spectroscopy is complementary to:

1)IR 2) NMR 3)FTIR 4) UV-Vis spectroscopy
90) UIR SHIHCHTH! & U UHR 3L

q) QST SHIHCHITH R) YUT ShIFCHIThY

3) fawrsT TR 8) YR TR
10) Paper chromatography is a type of :

1) absorption chromatography 2) adsorption chromatography

3) partition chromatography 4) retention chromatography

ST : (8) YARIAIRS : 37ad ARV — 1 3for svemeg
q) et RO — 7] 3 Sreme
q) 3rreet |ARoft
-3
Q) YT JATfOr 3TeTe].
Q- R-R 3-9 8=9 Y- &—19 v-3 ¢-3 R-3 q0-3
99-3 9R-X Qq3-3 98- 9Y-8 9%-% V-3 9¢-3 R-Y
3) SURTHEI, ARG
9-% R-%¥ 3-9 8-3
¥) greur, fagreran
Q-3 R-3 3-9 8-9 4-9 &= ©-3 -9 R-%¥ 90-19
99-3 92-¢% 3-9
Y) SR

-9 R-R 3-9 8- 4-3 &= v-¥ ¢-9 R-19 90-3
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